RS b e A TR

FUELR 13T 202438138 Ef=
8 S L AE FEHmEREK (5
)
BX TR (IEMX TR S5
BE 25
%)
e BHE B X 19-24 30
B HE EX4 30
HE 1-20
HA KR 2
a3k
i TE 20 FZHREIX 21 f+26 71
20 EZAES K 22 7+26 71
(ad HmE
(R ESUNES vasi

HEEET: KkEBET




FI KL PR R A TR

JLER 2 BE 2024 £ 3 B 13 H EHi=
S ez (IASE= SERTHC
(4351
B el L (EZ T 20
295 (LEFTH) IR
319, AR 2 i
JE451m il CBkAEdEC) SR
B, HREE
K Tt SV 2521 18-24 20
JE451m
Wik SEL] Ex4 30
T ERIA 4 1-20
LIRS
JEF5
Yy Tt ME /NI ThE 1-3 | 20
Pl
JEF51m
2% 5
JEF5
SRR SELI]
e[S 1]
R | B
e[S 1]
PEb S K 90 44k

PEFAERE 7 BRER

WSS R AR




NER 3 PR 2024 £ 3B 138 EH=
81 e BV HE 1558 i B K
(5>%)
EX THE 1. BRCIZTHIME |20
XABEM (B ZEBRY R
X
(%4 100 D)
2. mE (EFTH) &
B
FEHm 1.
#¥ PE LITIERER NGB | 20
REKEF
2R B ERS) SR FERR
FETBH A 0<X<1)
#iE B SERRARA Unit 3E4 20
EHE g?ﬁg%ﬁ Unit 4 AY523),
)32 BE MIN R F RS B EFERT
B
FEhm|
(a HE




FHmE

BA BH

FEHm|

(AR SISNES 60 44

PSS BES

FHSIR S LA TR

LER 4 R 2024 3B 138 Ef=
2R AEZi L HE 1558 B BT
(%)
1BEX Hm| I8 (HkIEIRIT) 30
EHm
ey FHE 23 FEPEX 4% 1- 25
18,23,24
8 T 1 SERUTRE 43 3 EaLEE 30
= +cd FIE
2. iTESRBRE
A 4 40 % 5] 450-500
1840 200-230
B




L= A 48-50 T 10
(EBESFSENE S 95
PTEXZF 1H8Y8E
WSS P LA TRER
NER 5 R 20233 A 13 B 2=
R (E Sl L RE 155 B A
(53$)
BX BmE 3. BR (IZTH) M |25
XABH (B ZEBR) R
X
(4 100 > FBR)
4. B (EFTH) &
H
5. (BF®E) &E
EHE
] BE 1 RBEZH—REEED | 25
panil=
2. HIBFEBE
FEHmE
iE SEL] 1. %E?l‘s?zt%%ﬂ 20
2. SERL P P49-50, P56-57




ARF5 1 B us 235, BR
L= BH A 60 F 62 T 10
FE+HmE
YIE +m|
Efm
RPN o]
Efm
B R
B SFSEES 90
REELF ETEF
SIS P R AR
NER 6 BE 2024 F£3 A 13H Eff=
FH RN Ry ELYHRE 1558 BT
(43-%4)
BX HHE LRd (EFTHF) 20

215 (EFTF) EX

118, H#% 2R




EFm Tl (B IEREIE) ER
2, HREE
S HE FUUZR>] 18-24 20
15 o SERARZAS Unit 3E4 20
e+ S FHBIE Unit 4 B9ER1F,
TRy
b REHSETM
1= KRN 60 1 62 7T 10
B EESES 70

PEEEZF: Eoh




